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Ques 1. ANS (C) Solution:
2011 D1 STUAT & TR T 3Hfeeh SRR T &
TER YIS - 12442373

fael 11034555
SR - 8443675
-6731790

Some cities with highest population according to 2011
census Mumbai - 12442373

Delhi-11034555

Bangalore — 8443675

Hyderabad - 6731790

Ques 2. ANS (A) Solution:

AU P Uy Y YRAR U9 & U oAl Td
Y MR (W) I BT S 6 |

The first schedule of the constitution mentions the
constituent states of the Union of India and the Union
(seven) states.

Ques 3. ANS (A) Solution:

T A H YR & TTe A1 39! Ht-deft T
I 4 ot T fama ST 81 61 AR ArTey b
RITGAT 1 Bt | T T URA DI U ATH & S A
T % 35 | I8 HERTSTARTS &1 IUTTY o aTd T o
S Y|

Chandragupta was the emperor of India in Maurya. They
are also sometimes referred to as Chandragupta. He
founded the Maurya Empire. Chandragupta succeeded in
bringing the whole of India under one empire. He was the
first Gupta ruler to take the title of Maharajadhiraja.

Ques 4. ANS (B) Solution:
ETaR BT TG oG TIRT 3R Hellol & el SIdG & g
ST T T S 31 gR SR U g8 | TIRY A GRS
UG B §I P UYTd 1144 5. T YR TR T: SATHHT
T U1 91 & ST T TR A QdiRTel & Uy ufdgdl
G ABR B FeTaR B WRIford foa | S daret &l
ST AT 3R T STl § b ST GedRT & SR Fgls
mﬁ%ﬁ—wﬂﬁaﬁﬁwﬁmw TR & g H igda
HARTIT YT |

The battle of Chandavar was fought between Muhammad
Ghori and King Jaichand of Kannauj in which Jaichand was
defeated and died. Ghori invaded India again in 1144 AD
after defeating Prithviraj Chauhan. In the subsequent
invasion, Ghori defeated Prithviraj's first rival Jaychand
Rathore at Chandavar. Jaichand was the king of Kannauj and
he is said to have invited Ghori to climb over Prithviraj.
Jaichand was killed in the battle of Chandavar.

Ques 5. ANS (C) Solution:

& T 1857 b HRATI WaAdT G & Sias™ § Th
T i 9| 98 % 31 HUHl B1 41 H U JUTR
2, TR W BT AF A 3R I 9 WY FG J IAqH T,
ST THTE TRTGR T8 - I U AR 3R e
- -3y dgTgr fear|

Bakht Khan was a prominent figure in the history of the
Indian independence movement of 1857. He was a suburb
in the army of the East India Company, Bakht Khan's
superior leadership and military knowledge were clearly
excellent, so Emperor Bahadur Shah gave him full authority
and title "'Saheb -e-Alam Bahadur".

Ques 6. ANS (D) Solution:
fIgaUTS Ued T YR faurre oiR Jerifad
AT, TR Ul & g TRITS 3R YRER Ued & fag o
Ty, PraffRie iR Figea HReT SR Rfew wfmR @1
TS Afifa faumdt el & 9y, 3R 1925 H faumay &
3{Igf 1 WIhR I T A |
Vithalbhai Patel was an Indian legislator and political leader,
co-founder of the Swaraj Party and elected to Sardar Patel,
a committee of elected and appointed Indian and British
representatives with legislative powers, and in 1925
became Speaker or Speaker of the Legislative Assembly.
Ques 7. ANS (C) Solution:
T AR ITR-Uf¥E URIid TeRmR B fRd Ue faqa
qﬂg@“fmﬁm% g U R 9ad ST I
ugw%uﬁﬁmmﬁmﬁ@m%l ESSEARRICH
AR & T8 I 19 1980 HieX B, 3R 3UHT YR 6. 4
farf} Bt TERTS A Tt G § | ST TTHAT 4460
e I Thall g1 § | SATATRdT THTHT 4460 Hiex AT g |
The Tamu Massif is an extinct submarine shield volcano
located in the northwest Pacific Ocean. It is the largest
known volcano on Earth. It is located in Shasaki Rise in
Pardu, Japan. Its peak is 1980 meters below the surface of
the ocean, and its base extends to a depth of 6. 4 km. The
volcano extends to about 4460 mt. The volcano is about
4460 meters long.
Ques 8. ANS (B) Solution:
I ST SART o1 UGS, et Y § 3R ST
faR aroifeT & Uit =g o, @1 o, il ¥, 3R
BRI, 3T & A AR sToite & gfaroft wm, Rap
gﬁa‘rﬁ?«r?ﬁ%l DT Hd 8B 750000 fHH T S1fIH
I
Pampas is the fertile lowlands of South America and
extends to the provinces of Argentina, Minas Aires, La
Pampa, Santa Fe, and Cdrdoba, most of Uruguay and the
southern part of Brazil, Rio Grande do Sul. Its total area is
more than 750000 km.
Ques 9. ANS (C) Solution:
HETAT Tieh SN Wicd gIgisaiagd UIdR Wic sfear
e B fRUA g1 139 TTTTATE &1 [SSS &dr & a1y
T2S! UTeR Wie UhR &1 81 399 8 I |
Mahatma Gandhi Jog Falls Hydroelectric Power Plant India
is located in Karnataka. The hydro power plant is of type
with a design capacity of 139 MW. It has 8 units.
Ques 10. ANS (C) Solution:
AHad SR DI TP YISl & FoRd ANTRS Tl =0 4
3T AIBR HT TN R & 1 AR BT o T4e o1
fomfor 3 8 W 54 ufaffe & g 81
Democracy is a system of government in which citizens
exercise their rights directly or elect their own
representatives to form governing bodies such as
Parliament.
Ques 11. ANS (A) Solution:
ST H SR gl o d (ATSTS ) YRA &1 T M
faspTaTaTe faia TR 81 38 HRa HuTfeH &=t & By
3R 3= 3M1ffe fafaferdt & fow Bor & &= ifd 8k




IS -, IRATE 3RY B S A BT

S Ao AT g | ST JeATad 4es A g

National Bank for Agriculture and Rural Development
(NABARD) is an apex developmental financial institution of
India. It is entrusted with the responsibility of matters
relating to policy and planning, commencement of
operations in the field of credit for agriculture and other
economic activities in rural areas in India. Its headquarters
is in Mumbai.

Ques 12. ANS (C) Solution:

"BIT 39 U Teiss SHIh! " : U7 $fgs Rfeq » gxdas &
Y HAR gRT foredt 715 5

The book "Hop in a Challenged Democracy: An Indian
Narrative" is written by Dr. Ashwini Kumar.

Ques 13. ANS (A) Solution:

YRATT TfAU™ & Srfade 1% SFAR, URd, 37fd sfaan
, A1 1 TG BRI | I 3R 37ab 98 d gIiT o ugat
g A AP B

According to Article 1 of the Indian Constitution, Bharat, i.e.
India, shall be a Union of States. The States and their
territories shall be as specified in the First Schedule.

Ques 14. ANS (D) Solution:

3daE Y TGS i F1dg + M wed €, SOH e
3t fearer, siufayma ud fom & dqui & Sigs oA - 74,
DT B BRI ARG BT JUAR B 8d 7, G@?r
Sfedt 3R vl & FU B vl S U aF aret shwef
IR BT qui faar T 3|

Atharvaveda is also called "Veda of magical rules", it

contains magical tantra-mantras in the context of religious

rituals, superstitions and worries, mantras to treat diseases

caused by the devil, herbs and medicines obtained from

nature. The medicinal doses to be taken are described.

Ques 15. ANS (D) Solution:

26 S[ATS , 1945 -26 3SR, 1951 P GRI TiHC gealt

A0S & YUTFEAT A, I & UG BT & SR HRA A

ESRERIR ISR

Clement Itali was the Prime Minister of England from July

26, 1945 to October 26, 1951, during his rule India gained

independence.

Ques 16. ANS (B) Solution:

ST ST (@M a1 A ST) BT IS 19 WSad 915

BIEIT NaHCOs, B

Chemical name of baking soda (baking soda) is sodium

bicarbonate NaHCOs3, Is.

Ques 17. ANS (C) Solution:

FIHI: T fbaT ST aTe favoie oaikiF o, 81 78

Had Ul o1 IufUf & favem &1 &l dxal g |

AR SHTRIBRUT GRT fARS IRl 8, ST IR GIRT

foran ot forkeT Rt 811 8 | TR fate = & gk

TSI FANRE 3T (HCL) ST BRI ¢ FAd STHT

gmﬂn%aﬁmu?q, J€ Ucd aUT HUs| o ferd foam simar
|

commonly used bleach chlorine Cly, Is. It acts as bleaching

only in the presence of water. Since chlorine bleaches by

oxidation, bleaching done by chlorine is permanent.

Chlorine produces hydro chloric acid (HC1) during

bleaching, hence it is used only for paper pulp, wood pulp

and clothes.

Ques 18. ANS (A) Solution:

M, TTE THTC RMEST81 o U &1 14 oT| 39 U
1A SRR 3R ATAT &7 19 S STS (ST TTS) AT
RITY el AMGSG! b DIl H TRADY IR Ugd bl
o | ATeTHg e &1 (AU AMESTe] 3 HRaTdl Ul | 38D HIdl
1 RITTT Bl BT G0 BT BT A 5 |

Khurram was the childhood name of Mughal emperor
Shahjahan. His father's name was Jahangir and mother's
name was Jodha Bai (Jagat Gosai). Architecture had reached
its zenith during the reign of Shahjahan. Taj Mahal was built
by Shahjahan. Its period is called the golden age of
architecture.

Ques 19. ANS (C) Solution:

SEHTR & S0 &1 ATH Ty AT | T8 3HaR &1 I3 AT
3HER 3 WG & AW I IHRd | TEHR & H1d o
e 9gd Hal-Go Ud 39 s an &1 Wi ora of
FHEI T B

Jahangir's childhood name was Salim. He was the son of
Akbar. Akbar used to call him by the name of 'Shekhu'.
Painting flourished greatly during the period of Jahangir and
it is also called the golden period of painting.

Ques 20. ANS (C) Solution:

AT IRR A Ihd Jad 987 3T qUT Uy g, S IR A
3ufRry fawrad uerdf & Frpra &1 o1 Hrclt § 1 I8 Th
Sftawd 37T g S IRR & UAS 3T &1 TeTad ¢ | T W
IPHd b o1 T & IRR B! SHfH TR IUTI= B
wferar gof 7t gieht 2 |

Liver is the largest organ and gland in the human body,
which removes waste toxins from the body. It is a living
organ which supports every part of the body. Without a
healthy liver, most of the metabolic processes in the human
body are not complete.

Ques 21. ANS (D) Solution:

Nahan is a town in Himachal Pradesh in India and is the
headquarters of the Sirmaur District. A welllaid out
picturesque town, Nahan is situated on a hill top in the
Shiwalik Hills, overlooking green hill. Traditionally, saints
and princes are linked with the origin of Nahan. The city
was founded as a capital by Raja Karan Prakash in 1621. He
was very fond of flying kites and he started a tradition of
flying kites on rakshabandhan day - a tradition followed till
today.

e URd H fEHTEe UG &1 T e & Sk RRAR fat
1 TR 8 | U Jufostd I XeR, g Rranferds
TgTSal & U UgTel o1 et R Ry B, wigt A g8 o
URIel fomrs 3t B 1 tNRId &0 9, Tdll 3R IS AR) &l
e 1 IATT T SST ST ¢ | 59 R BT WM 1621 H
ST HRUT GBI A ASTUT & =g H 1 ff | I Td1 ISH
&1 Fgd XN AT 3R B YT & o TdT 3eH B
TR YR D - T§ TR TS b It M8 7

Ques 22. ANS (D) Solution:

The All India Home Rule League was a national political
organization founded in 1916 to lead the national demand
for self-government, termed Home Rule, and to obtain the
status of a Dominion within the British Empire as enjoyed
by Australia, Canada, South Africa, New Zealand and
Newfoundland at the time. On April 23, 1916 Bal Gangadhar
Tilak formed The Home Rule League in Bombay. Six months
later Mrs. Annie Besant founded the league in Madras.
While Tilak's Home Rule League was confined to




Maharashtra, Home Rule Leagues were started in the rest
of the country under the guidance of Annie Besant.

3Tel STSTT BH T AT Teb AP eI GG AT
ST RITAAT 1916 H TIIE b1 AP AT BT A DA
& for Y 18 Y, Ford g =1 e oiren a1, ofR fafew
TS & IR T ST &1 Goll UTed A & forg
ST o Sifee ferd, TS, SR SishiesT 1 U 7| 39
T oiicis SR qHTSSas | 23 38, 1916 I a1d
TR fadds A 91 T g1 & AN &1 784 {631 B8
TS a1 A T S = Ao B ST oY RO B

Safd fades &1 81| =d dnt q& gl difta i, it
mmmm:m&w [ g & dN e
|

Ques 23. ANS (C) Solution:

The first major newspaper in India-The Bengal Gazette-was
started in 1780 under the British Raj by James Augustus
Hickey. Other newspapers such as The India Gazette, The
Calcutta Gazette, The Madras Courier (1785), The Bombay
Herald (1789) etc.

HRd H Ugal YW GHIEIR U3-G STd Toie-1780 | fafewr
S & q8d O SRy ! gRT TR fovdn 1T ATl 3
AR UF WY ¢ 3fT1 79ie, § Hadhl Toie, G Har
PINIR (1785), T S GRICS (1789) 3T |

Ques 24. ANS (C) Solution:

Under the Indian legal system, jurisdiction to issue
prerogative writs' is given to the Supreme Court, and to the
High Courts of Judicature of all Indian states. Parts of the
law relating to writs are set forth in the Constitution of
India. The Supreme Court, the highest in the country, may
issue writs under Article 32 of the Constitution for
enforcement of Fundamental Rights and under Articles 139
for enforcement of rights other than Fundamental Rights,
while High Courts, the superior courts of the States, may
issue writs under Articles 226. The Constitution broadly
provides for five kinds of "prerogative writs: habeas corpus,
certiorari, mandamus, quo warranto and prohibition.

URAT BT GOl o dgd, RIWIeR e SR &3 &1
SfRHR & Yot raTed iR Wt YRk Il & 3
araTed & fear g | Re ¥ Sefid S & o ym
YRd & Afayr & iR & | <=1 1 ata amarag,

i BRI & A B & fore Tfae & srgwse 32
& ded IR Hifelds SRIGRI & Sramal o1 ABRI Bl
AN B & 1T 3T 139 P d8d Re TRl R T &,
Sl I ey, oAl B aRE Hared, Re ol &
Tl § | TS 226 & dgd e | e M IR W uia
TR & "AIRIWIRISR e verm Hdl 8: et uaefiau,
TSR, TRATCRT, TT IRe SR Ay |

Ques 25. ANS (C) Solution:

A Money Bill can be introduced in Lok Sabha only. If any
guestion arises whether a Bill is a Money Bill or not, the
decision of Speaker thereon is final.The Speaker is under no
obligation to consult any one in coming to a decision or in
giving his certificate that a Bill is a Money Bill. The
certificate of the the Speaker to the effect that a Bill is a
Money Bill, is to be endorsed and signed by him when it is
transmitted to Rajya Sabha and also when it is presented to
the president for his assent.

¢ a9 Had diegHT H &) O fhar ST gepar 1 afe
PIS UY I3 [ BIs [A9T®d ¥ 99 g a1 !, a1 39
TR 3feme] o1 vy 3ifaw giar g1 regef fopahl fvfg iR

Uga- a1 fod! fadaes o o= fa8aes g1 &1 JHo g4 |
forelt ¥ TRTRI = o foTu a1 g1 8 | S1eAe B39

ST 1 JHT0T O o 1S 3t oA fadaes §, 39
T H Ufd X0 99 SIR IFUfd &1 geHfd & g
RIPUfT & FHe URd HRd THA b gRT GHIH 3R
BHIIER {1 ST =R U |

Ques 26. ANS (C) Solution:

Most of the west flowing rivers of Indian peninsula do not
form delta. They form estuary. Narmda is one of them. It is
so because rocky terrain of the Western Ghats does not
allow the rivers to spread out much, and there is not
sufficient plain stretch of land between the Arabian sea and
Western Ghats for Narmada to slowdown and bifurcate into
distributaries. Narmada forms an estuary of 21 km at the
Gulf of Khambat. The river is presently partially navigable in
the estuary reach around Bharuch but the river has never
been a transport artery.

YRR UG &1 TS &1 3R 951 arel! SHerei=y el
ST T T § | 4 T §1d 8 | 318 9 U § -THal,
U1 39 § e ufdndt are &1 e gareT Afeat wt
31 TreH &1 goTTeld g1 &l 8, AR 3RE IR $R
ufEnft ure & ot il &1 vaia e el § o e
&1 Tt et 81 b iR I8 faafearaht & fawford g1 we |
TIETd 1 @St H e 21 fartft &1 g ol 81
A B 1T & U & Gg do RIS wU 4
T B, QAfte et paft ot ufkae e At < R

Ques 27. ANS (B) Solution:

The Godavari is a river in the south-central India.lt starts in
the western state of Maharashtra and flows through the
modern state of Andhra Pradesh befor. reaching the Bay of
Bengal. It forms one of the largest river basins in India. With
a length of 1465 km, it is the second longest river in India,
second to the Ganges, and the longest in southern India. It
originates near Trimbak in Nashik District of Maharashtra
state and flows east across the Deccan Plateau into the Bay
of Bengal near Yanam and Antarvedi in East Godavari
district of Andhra Pradesh.

Terast afdur-ger YR B U A 8 | I8 Ul I
HERTY I L Biell & 3R U YR Aoy 3y vam @
BIpR ! & | ST &1 Wi deb Ugal| T8 HRd ! g
I 7 Tifeat § A U § 1 1465 [ B a8 & 1Y, T
YRA BT GO, T & 91 g1 SR faroht YRd &1 ga
EIREEER T4 o IR forl & Xiadh & U
3 At § 3R gd H a1 U8R & UR 3y U= & gdf
Terast forel & aH ok SiaRad) & U §Tet Bt wret o
EEGI]

Ques 28. ANS (C) Solution:

The 'Pong Dam, also known as the Beas Dam, is an earth-fill
embankment dam on the Beas River just upstream

of Talwara in the state of Himachal Pradesh. he purpose of
the dam is water storage for irrigation and hydroelectric
power generation. At the time of its completion, the Pong
Dam was the tallest of its type in India.

Gt iy, SR arg &y & =8 J W S S 8, fewre
TR o0 H qaaTe] & 31 3R SN e IR T gt
WRT desy §1Y g | §iY T I RS 3R yAfSwia
IdTe & oIl oI HSRUI § | §9& TR B & JHT, T
Y YR H Ut aRE T Jad T 9y |

Ques 29. ANS (D) Solution:




A group of economists including Keynes is of the opinion
that inflation, in one form or the other, is a factor which
helps economic growth. Usually, it is argued that inflation
tends to redistribute income and wealth. The redistribute
effect of inflation is always in favour of profit-earning class,
that is to say, it redistributes income always from the wage-
recipient class towards the profit-recipient class in the
community. As a result, the saving ratio will increase
because the marginal propensity to save of the profit
earners is generally high as against the high marginal
propensity to consume of the wage- earners because of
their near-subsistence level of income.
HIg Aigd SSRedl & e T &1 I © fob il
foeht 7 frell TU H, T T SR 5 ol 31 fawra &
Tee HRd! ¢ | AR UR I8 db a1 oiTaT § for Garepifa
3T 3R Y BT GATARUT Bl § | GERW I T GAfdaRon
TUTT GERN ATH HHH aTdl av o Y& B gidl 5, 3rifd a8
e & 31 B §HRN Jd--UTadhd! Ol § ATH-UTedabdl
I BT 3R GAGART B § | IRUTHRGEY, F9d SFuTd
T gfg gl i Ty S aTdll &t §a9d B DI FiFid
Tqh 3 dR W S gl 5, Tafdh 31 & T fafg
TR & RO TG B dTcll 1 SUHRT B B Wi
Ugfy 31fee gt B
Ques 30. ANS (C) Solution:
A geosynchronous satellite is a satellite in geosynchronous
orbit, with an orbital period the same as the Earth's rotation
period. Such a satelliter returns to the same position in the
sky after each sidereal day, and over the course of a day
traces out a path in the sky. A special case of
geosynchronous satellite is the geostationary satellite,
which has a geosynchronous orbit -a circular
geosynchronous orbit dirctly above the Earth's equator.
IUUE ORI we § U SUE B,
et el srafd gadt o goia srafd & T g1t 31
U1 IWIE UA® A& feay & a1g sy J 34t fRufa &
Tle MTAT 8, 3R T o & SR ST H U U T Ul
TR | Y- DTS SUUE BT Uah faR AT
YRfYE IUTE B, R@! U 1. JIId e8I & -
g o YA TG b 1 HUR T MATDHR Y- JedPpIIIdh
DHETI
Ques 31. ANS (A) Solution:
Sublimation apparatus is a piece of laboratory glassware
used in the technique of sublimation usually used by
chemiststo purify compounds.Typically a solid is placed in a
vessel which is then heated under vacuum. Under this
reduced pressure the solid volatilizes and condenses as a
purified compound on a cooled surface, laving the non-
volatile residue impurities behind. This cooled surface often
takes the form of a cold finger. Once heating ceases and the
vacuum is released, the sublimed compound can be
collected from the cooled surface. Impure camphor is
purified by this process.
ST SUBRUT PITRITET b PTd & Tl T T T
® ForgerT IUavT SeduraH o1 debites § foram St 8 ot
STHIR TR I GRT AN DT Y HIA & forg
TN T ST 8 | SHTHAR IR U 319 &1 U o o
TN Tl & o o JogA & g T fpar S 21 39
¥ A9 & g 31 AT BT § 3R 38 g W UH
< AP & &Y H Gaid Il 5, SR TR-aTwRie Sfaxiy
fedl o Ui e a1 8| I8 331 g SRR $al

e T &0 A Akl 8 | Uh IR S Sife T o 8l ot § 3R
dogH fAed ST €, d Ifeers A &1 381 Ide ° Uhd
3T off TohdT 8 | 39 UfhaT ¥ Sl TR Y 81 ol o |
Ques 32. ANS (D) Solution:

Acid rain is a rain or any other form of precipitation that is
unusually acidic, meaning that it possesses elevated levels
of hydrogen ions (lowpH). It can have harmful effects on
plants, aquatic animals, and infrastructure. Acid rain is
caused by emissions of sulfur dioxide and nitrogen oxides,
which react with the water molecules in the atmosphere to
produce acids. Government have made efforts since the
1970s to reduce the release of sulfur dioxide into the
atmosphere with positive of results. Nitrogen oxides can
also be produced naturally by volcanic eruptions. The
chemicals in acid rain can cause paint to peel, corrosion of
steel structures such as bridges, and erosion of stone
statues.

3Tt IO g N AT auf BT BTS20 =Y g S SR
U ety il 8, Rrgest o § b 397 grggieH
ST BT R ST (FH) BT GpH). SHBT UTeH, STeld
STERT 3R gfaTe] BT R FIFPRS TG U Thel T
ST O T STSHTATSE 3R ATSCIoH RIS &
W%W'@?ﬁ% S e & U % Supei %
1Y vfafehar Hrd TRIS IUA Hd & | TRPR A 1970 F
GRS 3 TR H b SSHTRIZE B NETS Bl HH
R & fore g fpu § o uRom 9aR1es W8 B
fqupiel @ Wipfdd &0 ¥ AcioH JTRISS Bl
ST fora o T 8 | Sty anf | Hivlg T e
¥ e, gall oit STTd TRATSH 3 &RUT 3R TR &
gffal & &Rl 6T HROT S Thd ¢ |
Ques 33. ANS (A) Solution:
Cancer is the uncontrolled growth of abnormal cells in the
body. Cancerous cells are also called malignant cells.
Symptoms of cancer depend on the type and location of the
cancer. Cancer grows out of normal cells in the body.
Normal cells multiply when the body needs them, and die
when the body doesn't need them. Cancer appears to occur
when the growth of cells in the body is out of control and
cells divide too quickly. It can also occur when cells forget
how to die. The most common cause of cancer-related C
death is lung cancer.
HIR IRR T SR HIRAHT37 Bt i gfS B
FORI PIRIGTH B "I HIRBN H HgT ST 8 |
FUR & LT IR P UHR 3R VM R FR R B
FR IR T GG BHIRB1H A S 2 | G
HIRNBTY I Tl & oTd IR B IDT ATTIHT BIdl B,
3R 919 IRR B D! ATl gl gl ol d AR et
& | U7 UIclTd B1aT @ fob bR dl BT § ofd SRR A
HiRTB1H Bt gfs FEA0 & S1ER 81 9 § SR BB
ggd dult F fauTiia 81 St €1 78 a9 ot 8 ahar 8 5|
DHIABIY Yl ST & [ b AT § | HeR § aifdrd It
T H1 T 3 HRU BB BT IR g
Ques 34. ANS (C) Solution:
The blood sugar concentration or blood glucose level is the
amount of glucose (sugar) present in the blood of a human
or animal. The body naturally tightly regulates blood
glucose levels as a part of metabolic homeostasis. The
mean normal blood glucose level in humans is about 4 mM
(4 mmol/L or 72 mg/dL,i.e. milligrams/deciliter); however,
this level fluctuates throughout the day. Glucose levels are




usually lowest in the morning, before the first meal of the
day (termed "the fasting level"), and rise after meals for an
hour or two by a few millimolar. Normal Human Glucose
Blood Test results should be 70 - 130 (mg/ dL) before meals,
and less than 180 mg/dL after meals (as measured by a
blood glucose monitor). Less than 100 mg/dl (milligrams
per deciliter) = normal fasting glucose. More than 100 but
less than 126 mg/dl = pre-diabetes. More than 126 mg/d| =
provisional diagnosis of diabetes.

& RTEhT TGl T e T ol TR ol HHa a1 S-aR
& Yo T AN TP (1) B AET R | Hersifoe
BIIRSRIY & Ueh YT & =0 H TRR WIHIAH &9 4
TG HRT &b TR P HUBR (A Bl g | T |
SIRTd THT=A I RehRT T TR ATHIT 4 THUH (4
THEHSIGel/Ta a1 72 foeiam/Siaa, am
forefoma/3dieieR) §; g, 39 TR § R fe Sar-=em
BT IEAT & | D IS T TR MH IR R Yo H qad &Y
Bare, i3 P Ugd HivH 3 ugal (PR "Iuard wR" &8l
ST B), 3R HIeH & 916 U a1 &l b & Y $&
foreiiiteR g ST § | AT |4 T IS I URIe0N &
TR 1o ¥ U8 70 - 130 (frefiumm/Siua) 3R HivH
¥ §1E 180 Arefiumd/Sua @ w0 g afeT (S fh xaa
@IS AT-e §RT AT ST §) | 100 fErefiomg/Seftefier
(Freftm gfcr SHTefier) ¥ & = 9= IUd Wi |
100 T 3P wifdb 126 fHefium/Siea T w0 = -
SAfSES | 126 fefiumm/Siea ¥ 1A = ayHg &1
3fferd fAgH |

Ques 35. ANS (D) Solution:

Itai-itai disease was the documented case of mass cadmium
poisoning in Toyama Prefecture, Japan, starting around
1912. The cadmium poisoning caused softening of the
bones and kidney failure. The disease is named for the
severe pains caused in the joints and spine.

3aTs-3CTs I 1912 & SMTIUTY ST & SHATH T H 99
Q0 IR S-Sy fauTaddr &1 yafRad Trar o7

Feftr fauTaddr & HRUT Efgal R 81 TS 3R IS TR
BITY | 3 SR ST A oSl SR S P gt A g ara
TR &< & HRU W TG

Ques 36. ANS (B) Solution:

&% PR oIeg ol TR fodt IRT SRBR aﬁrﬂﬁ
HR ST G § | 3P SN et (ﬂ?mqrs'

& q8d \RIQ T A $1 ST SdIsH TS aﬂﬁ
ITal 1 BRI WIS ST 1 HiehT fHe aTa ¢ | A bl
T 10 TG 30T 1 IS B0 I HT 81 bl 5|
TP A 3TH TN Bl oleg; &1 Th TaTsd U0 W
e AT SUars e & fae 3 i Iear g1
WWW (Invoice Incentivisation Scheme) &
mewm@mﬁﬁﬁ(lnvoice)ﬁqm
3UATS’ FHRA AT AT B ARG /ARG 10 ART 30T J
1 RIS TUY qP B e YRR [eTT ST & | The
central government is soon going to launch the 'Mera Bill
Mera Adhikar ' scheme. Through this, those who upload the
GST invoice of the goods purchased under GST (Goods and
Services Tax) are going to get a chance to win the cash prize.
This cash prize can be from Rs 10 lakh to Rs 1 crore. Under
this, common people may soon get rewarded for uploading
GST invoices on a mobile app. Under the Invoice
Incentivisation Scheme , monthly/quarterly cash rewards
ranging from Rs 10 lakh to Rs 1 crore can be given to people

who 'upload ' on the app invoices received from retailers or
wholesalers.

Ques 37. ANS (C) Solution: 19 & el Raems! A9
HIC A FIDE IS HY BT RadTdl Sid for g, T8 31
Ug e RadTd 8. BIe-d garad § HIda 3 YR & gal
Aol AT IS WHHET &1 AT <. AU BIerd 5
IR & 963 AR o Sid 9 8. HRd & fagm=
3{THE 3R AdH WG 2-2 §R FIDE 9% &Y &1 Radid
Gﬂ?ﬂ% Norwegian chess player Magnus Carlsen has won
the FIDE World Cup title, his first title. In the final match,
Carlsen defeated India's young chess player Rameshbabu
Praggnananda. Magnus Carlsen has also won the World
Championship 5 times. India's Viswanathan Anand and
Levon Aronian have won the FIDE World Cup title 2-2 times.
Ques 38. ANS (B) Solution: 23 3T, 2023 1 HId Jal
HRIHH Td Wl HAAT SR RiE ST A TR & Hals
AFRIE Wiegw T IRIM I | Wdl 3fear & 33 dal
BT YHRY 51| By Tt A Gon ad gU Hel [
IR H Wal 381 & 18 3R Hal H U T W
oI o o 1Y T T Sp el g U e
SITET | 39 YR o9 § Wall S1Sa1 hal Bl Hof T 51
g S| sﬂ%muﬁ%ﬂﬂ‘aﬁwﬁ%‘%@a‘rm
el & s UfaaIfTdIsh &1 v fosar Sre, Sefes
I € BraHRGH DI Wl Sfeardg de i Fgmran
ST | On August 23, 2023, Union Minister of Youth Affairs
and Sports, Anurag Singh Thakur inaugurated 33 centers of
Khelo India in the state of Rajasthan at Sawai Mansingh
Stadium, Jaipur. The Union Minister announced that a
National Center of Excellence along with a dedicated Sports
Science Center would be set up in 18 other Khelo India
centers in Rajasthan. Thus the total number of Khelo India
centers in the state will be 51. Along with this, it was also
announced that competitions would be organized between
Khelo India centres, while the 'Coaching the Coach'
program would be extended to 'Khelo India ' centres.

Ques 39. ANS (A) Solution: 3fTeiftes TR =Rw AT
88.77 HieX & 30 HRAR A1 Gy o & Wy iRk
3Meiftes 2024 & T HIeTS B feraT 8. 2024 IR
3fifies BITHTSI AT 85.50 HieR 8. BTGB fds! 1
TS U T B8 . 25 U AIST HIAHIST AIS & Ugadl
T H g IR 3iiciftes 2024 P U STelHE o foran g,

Olympic champion Neeraj Chopra has qualified for the Paris
Olympics 2024 with his career fourth best throw of 88.77m.
The 2024 Paris Olympics qualifying mark is 85.50 metres.
The qualifying window has started from July 1. The 25-year-
old Chopra has qualified for the Paris Olympics 2024 in the
very first attempt of the qualifying round.
Ques 40. ANS (B) Solution: fgdl v ’?W:: g Hdll
a4 2021 P [T YT WIR fhed BT AP REBR
Sl STafes Sferar He 3R B T 3 Td2y i qut
3T 31 A G ST BT [IBR il | Sieligs
FHATBR HE 3R T A HH: &S HISAErg” 3R
fipdt o aﬁ{iﬁaﬂ&f@mﬂa‘é}g ST BT REBR
e fopa | o YRt Rhet & YRR 3iee] 3rj
I P g g 1S (UTE 1) & fore qd9 Sifvar &1
RIGR A H1 Haa far mar g | a9y e &1
e RIBR WTe! fhedq Maraky & o Ffea
Wﬁmml Hindi film 'Rocketry: The Nambi Effect '
won the National Award for Best Feature Film for 2021




while Alia Bhatt and Kriti Sanon won Best Actress and Allu
Arjun won Best Actor. Bollywood actors Bhatt and Sanon
shared the best actress award for their roles in "Gangubai
Kathiawadi " and "Mimi ", respectively. South Indian
superstar Allu Arjun has been decided to present the
National Award for Best Actor for the Telugu film 'Pushpa:
The Rise (Part 1)'. The National Film Award for Best Director
went to Nikhil Mahajan for the Marathi film 'Godavari '.
Ques 41. ANS (A) Solution: %S dTg HA&U1-2023 & 10
R W 31T STaTd Tt WeR B Aot H SR A g,
HIoTa = gal, TqaqR = 1381 3R IR A 410 R
BIRYa fovam 8. Ui fra qataor e STERT 3 ST
fob 3 ARG I 10 A1 1 TSN aTcd 2 bt 40l H IR
DI 188.02 3| & I S H 1091 RIF FAGTE. In the Clean
Air Survey-2023, Indore has secured the first position,
Bhopal fifth, Jabalpur 13th and Gwalior 41st in the category
of cities with a population of more than 10 lakhs. Principal
Secretary Environment Gulshan Bamra said that in the
category of cities with a population of 3 lakh to 10 lakh,
Sagar has got 10th place in the country with 188.02 points.
Ques 42. ANS (A) Solution: SRS & §1% A

fa=g =TS ufaaifar ¥ YRd &
STt Rig 7 25 Mer W fivea Wyl & W@l ugdh
ST 81 Afgarst &1 25 Wex &t AfdarTd Wi 3 o,
IR B 3R PpiciepT I Uae B ale & e 8l T |
I T =T 1601 P WHR I EH P 7w 7% ugsh
ST 5 Tquf 3T 4 BRI UH! P 1Y UG ATciepT H 3
‘H'ITCT%W 9TUSH BITTU | India's Amanpreet Singh has
won the gold medal in the 25m standard pistol event at the
ISSF World Shooting Championships in Baku, Azerbaijan. In
the women's 25m individual event, Tiana, Yashita Shokeen
and Kritika Sharma were out of medal contention. He won
the bronze medal for the team with a combined score of
1601. With 5 gold and 4 bronze medals, India's tally now
stands at 9 medals.
Ques 43. ANS (C) Solution: Beh TSIP [AH dord = gaT
W §a1 H OR $=A aral Wl fodrs fagjer ¥ firamga
31 BT YW U&7 fohdn | a1 de IR el 20 BOIR
Pe &l Sdls R A e gt wat
&1 HATER A Fg o Ulerur It YaT 3R ST at
I R fhU TN o, STy guREIHe s gl
a1 9 541 & AR &= aTell I8 [Brrsd &l &1 HeA 3R
IV B T T B | 3 &M T 3R e yaimamma
3R 113N BT 3= yATRIarsit gRI fEomz 3R
fomfaa %CITTI'CIT%I Light Combat Aircraft Tejas has
successfully flight tested the indigenous Beyond Visual
Range Air-to-Air Missile Astra. The missile was successfully
fired from the aircraft at an altitude of about 20,000 feet off
the Goa coast. The Defense Ministry said the test was
accurate and met all its objectives. Astra is a state-of-the-art
supersonic missile. This air-to-air missile is capable of
engaging and destroying targets. It has been designed and
developed by Defense Research and Development
Laboratory and other laboratories of DRDO.
Ques 44. ANS (C) Solution:
Wﬁﬂ@'ﬂ@ﬁm (National Sports Day) ufaas 29
AT I HAIT S 5. R H AP T fad HG™ glapt
TR ToR e &1 Wi § T/ 51T §. 39 & URd
& HgM gl FIaTS! Aok eaeic &1 I1d 1905 H
TITRIS H S g3 UT. AoR &g - A1d 1928, 1932

3R 1936 H YR B! e & Tquf uges feama o,

National Sports Day is celebrated every year on 29 August in
India. National Sports Day in India is celebrated in the
memory of the great hockey player Major Dhyanchand. On
this day India's great hockey player Major Dhyanchand was
born in Prayagraj in the year 1905. Major Dhyanchand had
given gold medals to India in the Olympics in the years
1928, 1932 and 1936.

Ques 45. ANS (B) Solution:

 INEAE] WWWWW (Karnataka
cultural festival) P AT B ERSEal SIS HRAT
F% 3R TH 3. T e U BTSSR & wganT ¥ fasar mar
T, 3 BTN 7 IR o fafaear & yRa iR dicis o1
T e e faRTId H Ue Hg@qu! &fv1 &1 fifgd fowa.
Sri Lanka hosted its first Karnataka cultural festival. It was
organized by International Cultural Council of India, Swami
Vivekananda Cultural Center and M.E. Done in collaboration
with the Global Peace Foundation. The event marked an
important moment in the cultural diversity shared cultural
heritage of India and Sri Lanka.

Ques 46. ANS (A) Solution:

HERTY H Pesld $I qoll SgM B fa=1 H T Agaaqul
H&H I3Td gU, T PR A URIG o+ URIaR Fedrd
TNT, TSN & 1Y TP JHSIT 10 (THS) T 7awr
T 8 | GRIER THARIE SToRaH1d gl o) Jufeufa &
TN | FIERTY WRPR P Ui et e sk @
fQURT & T Ffera teitd Rig o = 9 Sk gar Jar
ST o fea¥ & 91y fosan | gOst IR, §eqeiim &
gfafftrsa & fiud Sferar wR, dex dad sik Hifkrs
Hifcies MM A | Pesicd HgRIY & P ford! § Hg@yu
TN LT U7 Rl 8, O o8 o HIeR U S %d Wd
TR RITUA B o el Fgarh YAl b1 Sa=dabal
tl?\_rﬁTa_dT%I Taking a significant step towards raising the
status of football in Maharashtra, the state government has
entered into a Memorandum of Understanding (MoU) with
the Bundesliga, the famous German professional football
league. The signing ceremony took place in the presence of
notable personalities. The Government of Maharashtra was
represented by Ranjit Singh Deol, Principal Secretary, School
Education and Sports Department, along with Suhas Diwas,
Commissioner, Sports and Youth Services. On the other
hand, the delegation from Bundesliga included Mrs. Julia
Farr, Peter Lieble and Kaushik Maulik. Football enjoys
significant popularity in several districts of Maharashtra,
emphasizing the need for collaborative efforts to establish a
conducive sporting environment within the state.

Ques 47. ANS (D) Solution: Siis¢ TS ToIRYTSS siTse
CR-23 (BRIGHT STAR- 23) HT TSI 8 T fardT SR
SH URd 3R SMRGT Aied gfHaT & 34 <=1 BT 1T
I A @) 8. T8 T ST 31 3G F 3T A &1 14
TRRE I o & HigwIg ANSe I 318 WR Ao
foaT SIRRT. 918 ©R- 23 U -Sa1 Igea o=
3T g FoTeT A gud Yewh a 3R i 991 gy o
GITEIT. Joint Military Exercise Bright Star-23 (BRIGHT STAR-
23) will be organized in Egypt. In this, armies of 34 countries
of the world including India and America are participating.
This military exercise will be conducted from August 31 to
the 14th of next month at the Mohamed Naguib military
base in Egypt. Bright Star-23 is a multinational tri-services




joint military exercise that will be led by US CENTCOM and
the Egyptian Army.

Ques 48. ANS (A) Solution: ﬁlﬁl@%mm%
At uRomHl & §Te foreTsd & TR HTRaT
(Emmerson Mnangagwa)ﬁw 3ifeH g 9Td &
FrdwTd & forg fOhr @ g1 T ], o forvasd o gma o
Srfafiadsi 1 3figrd 281 8, fore! Hae I yd Iyufd
RIS< TS TTHT IR GR1| db Il 8 a4 3g 3. foraTed,

Zimbabwe's President Emmerson Mnangagwa has been re-
elected for a second and final five-year term after the
declared results of Zimbabwe's presidential election. By the
way, there has been a history of irregularities in elections in
Zimbabwe, with the help of which former President Robert
Mugabe remained in power for almost four decades.
Zimbabwe is a South African country whose capital is
Harare.

Ques 49. ANS (A) Solution: BIGT A WWW
Y THT THTT F 3T 59 gl forn 8. BiwT A s ay 21
TR 1 IR FiciohT & Pedld TeRie R Ufdee T .
g Ufde Y TR H THUaUd gRT Biw] el o Ieerd
& DR AT 7T 1. 39 Ufdeel & BRI, el Db
Geaid ¢IH IS B ST sarr ATARMT 2023 F1
%qubfatﬂé Y. FIFA has lifted its ban on the Sri Lankan
Football Federation with immediate effect. FIFA had banned
the Football Federation of Sri Lanka on 21 January this year.
This ban was imposed due to violation of FIFA rules by FSL
in administration. Due to these restrictions, the Sri Lankan
football team could not take part in the SAFF Championship
2023 held in July.

Ques 50. ANS (C) Solution: JTSTTHT & THTUT SHTET
UGS A HIUY TGS Ut FRIdaH D T8 Al Seith Rt
T T T g faan g, eaayT farad &
gafe & Arem | 3! Fgfed # R T R ag .
HE AT T RYF 1) Sff 18 3[R 2023 1 IASTGHT B
wm%ﬁ?ms‘fw Rajya Sabha Chairman Jagdeep
Dhankhar has nominated Congress MP P Chidambaram as a
member of the Standing Committee on Home Affairs. The
news of his appointment has been given through the
bulletin of the Rajya Sabha Secretariat. He will replace P.
Bhattacharya who retired from the membership of Rajya
Sabha on 18 August 2023.

Ques 51. ANS (D) Solution:

T TR wWIfey &1 e W@ig A 7, I e A1 &1
Y AT R |

Just as delicious is related to taste, similarly melodious is
related to sound.

Ques 52. ANS (C) Solution:

95 90 80 65
L4 AL A 4
-5 -10 -15 —-20

Ques 53. ANS (C) Solution:
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Ques 54. ANS (C) Solution:

ﬁmsr?ﬁrtBEANaﬂ'tsA

M}{

N E A B

Ques 55. ANS (D) Solution:

TR EM BR T 11 IRMFA R g

FHAR T AS(hdl P U\ =11 +11-1=21

3d: FAR A Hdl 21 ASfHATR |

Priya is 11th from both ends

Total number of girls in the queue=11+11-1=21

Hence, there are total 21 girls in the queue.

Ques 56. ANS (D) Solution:

gwa's’%a‘raﬁ,aﬁqasﬁvﬁuﬁrﬁm%a‘m
I

According to the question, the number which is included in

square, ellipse and triangle is 7.

Ques 57. ANS (D) Solution:

T Frepdt § & S Freed srgeawor 58 T @ &)

Ques 58. ANS (A) Solution:
IR & FH AN TG TR W g3l | 3o YA Afga
&1 fUar gen

Ramesh himself was the only son-in-law of his father-in-law.
Therefore Ramesh became the father of the woman

Ques 59. ANS (C) Solution:

8-12+4x3+3

FRcar fie uRadi e
—+8+4+12+4—-3x3

—84+3-9=2

Ques 60. ANS (D) Solution:

From problem figure (1) to (2), the whole figure gets
laterally inverted while the L shaped figure rotates by 180°.
Also, one line is added to the other figure.
ﬂﬂw&r@ﬁr 1) ( z)w Tt 31 uryf F U 9 Iac
STl § STEh L 3THR BI 3T 180° 0 A & | TPH
31T, Toh T &R 3T o Sigl S 311

Ques 61. ANS (C) Solution:




Ques 62. ANS (C) Solution:

11,. 6, 0, 7, =15
t ¢ A § KL | (% !
-5 -8
L n IL |
-1 -1 -1
Ques 63. ANS (C) Solution:
S{USH qUIHTEN 1 LE Y UG W S,C, A, L, D, ,N, GH
SR BT R 19, 3, 1,12, 4,9, 14,7 € | o qUTaTE BI
YIS UGT TR H,X,Z,0W,R, M, T 3&RI BTRIF 19, 3, 1,
12,4,9,14,7 31 TH TR Y, aﬁﬁﬁaﬂmaﬁwﬁqﬁ
WP, E, R P 3&RI & VI 16, 5, 18 § | STt guiHTe B
%ﬁu—a_ﬁm 16,5, 18 BIRIF KV, | 3eRI BT 71
When reading the English alphabet from the beginning, the
positions of the letters S,C, A, L,D,I,N,Gare 19,3, 1,12, 4,
9, 14,7. When reading the English alphabet backwards, the
positions of the letters H,X,Z,0,W,R,M,T are 19, 3,1, 12, 4, 9,
14,7. Similarly, when reading the English alphabet from the
beginning, the positions of the letters P, E, R are 16, 5, 18.
Reading the English alphabet backwards, the letters KV, |
are at positions 16, 5, 18.
Ques 64. ANS (D) Solution:

5 TR I faoiclt 1 Uarg IR A BT 8, I USR Ut

I Y8 TR BT |
Just as electricity flows through wires, water flows through
pipes.
Ques 65. ANS (C) Solution:

L2 5 11 23

L A AL A A
x2+1 x2+1 x2+1 x2+1

-

Ques 66. ANS (B) Solution:

RETR,P I N K - Q H O J
L +14T

-1

Ques 67. ANS (B) Solution:
A
C F

B E
D
3d: B& b Sl 3K C Rag &)
Ques 68. ANS (D) Solution:
257 DI BISHR 30 I TEefi # 1 s W af &t
MR R |

By adding 1 to all the numbers except 257, a square is
obtained.
Ques 69. ANS (B) Solution:

TYTIAR T R g &1 e J1d &1 § S TR &
TR @A © | A P a8 T SNt bt S T Ay
MAAE T 118

According to the question, the number of educated men
who do not live in the city is to be found. That means the
number which is included only in rectangle and triangle is
11.

Ques 70. ANS (C) Solution:

1 Frepet & & a1 o 157810 Y 11 STERor &2 @ ¥ |

Ques 71. ANS (D) Solution:

1972 U &Y aY €, SUfore 39w Iware ¥ sifafed =i &1
e 2 it | erufd oie s 1 STast A aaR § a1 98 1
AT (1973) B gEWIddR BT

1972 is a leap year, so the number of extra days from the
week will be 2. That is, when the previous 1st January is
Tuesday then this 1st January (1973) will be Thursday.

Ques 72. ANS (B) Solution:

18 x12+4-8=2

fAcemfaR A= uRadi d ae
18 —12+4+8x2
—+18—-3+8x2

—+ 18 -3 +16 =31

Ques 73. ANS (A) Solution:

From problem, figure (1) to (2), the whole figure gets
inverted vertically. Now, the upper part gets half-shaded
while the lower one is reduced to half.
AT 9, 3T (1) ¥ (2), T AP dadd &9 Y Iac
ST B 1 31d, TR YT 1T STfiferd g1 STl § S|
g YT S g ST |

Ques 74. ANS (A) Solution:

p<r,r<53hT t>p.
2 IR0 B 39 UHR it fora Iavd Bl

t>p<r<s =:~p,rxﬁ?s@[@?{[%l13|"'|T(s>t),

s QT BN t ¥ T8 WY AT 81 3fat: s 1p < s TS B
Ques 75. ANS (B) Solution:
fear8, B=1,N=2,0=3,A=4,2=5

1214151 = BNABZB = 3PT BIg 31 T8 ST 8|
1324254 = BONANZA= 39T 3% 8, SUBR |

5152243 =ZBZNNAO= 39T 13 314 el a-aT ]
Given,B=1,N=2,0=3,A=4,7Z=5

1214151 = BNABZB = This doesn't make any sense.
1324254 = BONANZA= It means gift.

5152243 =ZBZNNAO= This doesn't make any sense.
Ques 76. ANS (C) Solution:

(24 9T + 32 BT WIRT ) BT e = = 8400

8 (3 Il + 4 BT! IR ) BT I = = 8400

(3 I + 4 BlebT IR ) T Jod = = 8400/8

=¥ 1050

Ques 77. ANS (B) Solution:

110 9T 120 & S Hdd U B ST T=AT 8, S 113
Ques 78. ANS (C) Solution:




Ryaret gRT 1 Her 71 SR W HA W IR AT § = 4
Hiex|
YTt GRT 100 HieR BT 3R T FR- R AR Fadl §
= (4 x 100 ) HIeX = 400 HIe
Ques 79. ANS (C) Solution:

AR RGBT PIYI =3 . dd,

(900 — z) = 2(z — 600)

= 3z = 2100 = z = 700

A BIHI AT =3 700.
Ques 80. ANS (C) Solution:

AFAT S TS GBI 3z AT de €, 09 391 9.4, = 122
s12r=84=a2=".

T YT 21 TUT 28%, STH OIS T 28
Ques 81. ANS (C) Solution:

6 oY + 4 AZEE = 14 T30 = § UoY =4 Aza
14U TH G AT ad g = 12 e |

1 gl T P A BN = (14 x 12)fe 1

8 T3 BT &I THE B4 = 14 x 12
Ag=21f7

Ques 82. ANS (B) Solution:

600 HI. T TTeh BT UR B3 H T 99 = 5 e
600 60 .
a{ma_q;m x 5= 7.2 Tt eer

Ques 83. ANS (C) Solution:

2(1+b)=18 HeXqUTh = 3 HIex

HH B IR AR BT &ABA

=[2 (I +b)\times h ]= (18 x 3 ) 7 HIeX = 54 T Hex
Ques 84. ANS (B) Solution:

7 wrger 3w = (T4)2 x 7° o150 3%
=1x3=3

3% Bzt 35 = (314 x 3 BreaE I
=1x9=9

(7% — 3% BrzaEam=(13-9)=4

Ques 85. ANS (B) Solution:

10 Hiez /&S = (10 X 7) fasrito / =er

o
=36 faprto / =er
Ques 86. ANS (B) Solution:
1 WX HUS BT fdshd T = = 12325/145 = F 85 .
Y AT HIR=F10.
AHRPUSHIHITI=F (85-10)=F 75.

Ques 87. ANS (D) Solution:

E_ EXE — Ex§ _E a-c_2.3
c \pX¢)~\aXg)—g=ae=2

Ques 88. ANS (A) Solution:
(6 TSE = 4 TOW )= (3 TSH = 2 [79)

(2 TSE + 10 TBY )=(2 oY + 10 TFY )= 12 ToW
43?&3:7#%—{?1%-18%—411 )
1 QoY B g @O = (18 x 4) BA H

18><4

12 I39 T THG B4 = fAd=-efd

Ques 89. ANS (C) Solutlon.

TH G T @I g Gl = A x FEG =70 x 12 = 840 &

TR ERI 12 9 S a0 BI 7T g3 =840 + 120 = 960 &
960

TR DI efm’rramzﬁ = 80 rder
Ques 90. ANS (B) Solution:
HAYT =% 10000, &R = 6 % T TS =5 450 .

100 x 450
gy = (m)aﬁ Zad= (me)m—é_g.

Ques 91. ANS (D) Solution:

Magnetic disk is a kind of data storage device. Storage
capacity of magnetic disk depends on

1. tracks per inch of surface

2. bits per inch of tracks

3. disk pack in disk surface

Ques 92. ANS (D) Solution:

Computer was invented by Charles Babbage. The First
Mechanical Computer Designed by Charles Babbage, a
British mathematician was called as Analytical Engine which
resembles today's modern machines between 1833 and
1871.

Ques 93. ANS (D) Solution:

Full form of MICR is Magnetic ink character recognition so C
stands for Character.

Ques 94. ANS (A) Solution:

Bit is the smallest unit in a digital system

Ques 95. ANS (A) Solution:

Steps for merging cells :

1. Select which you want to merge

2. After selecting right click on that highlightened cells to
get format cells option.

3. Click format cells to merge get merge option.

Ques 96. ANS (D) Solution:

A browser is a software program used to view Web pages.
Ques 97. ANS (C) Solution:

STSUTat 4 T 32 fore T & o &yt & faiora foran
T 8| Hedd Ted 3R ghe Uew I8 MufRa axarg, f&
Ao & fore faram 32 fae &1 IuanT far srar g |
Ques 98. ANS (A) Solution:

LAN refers to a small, single-site network

Ques 99. ANS (D) Solution:

Windows 95, Windows 98, and Windows NT are known as
operating systems

Ques 100. ANS (D) Solution:

Floppy diskette is a storage space as like disc for any
important files for future use.The process of preparing a
floppy diskette for use is called Formatting.

Print




